CHEM 330
Problem set 5
ANSWERS

Predict the structure of the major product arising from the following reaction
sequences. Assume that aldehydes possessing an a-stereogenic carbon will react with
achiral enolates in accord with the Cram-Felkin or the Felkin-Anh model, as appropriate
(as briefly mentioned in class, this is not always the case).

Note: it is understood that each sequence ends with an aqueous workup.

o 1. LDA, THF / Y OH O

HMPA, —78°C
a. ’
\)J\OEt

2. Et-CHO

O 1. LDA,

THF

-78°C
2. Ph—CHO

O 1. LDA,

c. A)LNQ s

2. Me-CHO
0 1. LDA,
THF
d.
e
2. Et-CHO
0
HH 1. Cy,BCl L OH O
e. g
EtN ph&%h (2)
2. Ph-CHO :
Q  t1gBBNOTE L, OH O
f Ph NI OPh (&
EtsN ,'H ()

2. Et-CHO Me

-78°C

/ R R
N



Problem set 5

1. Cy,BCI
Q éfsN OH O
h. H\Ph h A,
2

@CHO MeO -

éMe

0 1. LDA, THF

. TBSO OH O
i —78°C T
OEt 5, oTBS . Ot

@) 1. 9-BBN-OTf
EtsN TBSO QH o)

O-TBS
CHO

Me
0 1.LDA, THF /

"HMPA, —78°C oH o
|' - > )\/-\)J\
\)J\OEt 2)V <" OFEt
' CHO =
Me

1. LDA, THF HO O
ﬁ —78°C H
/H/CHO

1. LDA
2. BnBr

o O
\)LNJ\O oo
A, o

Me Ph

0]
Ph\FeHJ\OMe

1. Bu,BOTH, oH o0 O

o Et;N
o \)J\Nko " " NNJ&
,\—/ ’ \|/ MeO \—/
Bn OMe Bn

3. Ag. wrkp.



Problem set 5
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2. Identify compounds A — E obtained as major products of the following reaction
sequences:
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3. The molecules shown below are fragments of known bioactive substances.

Propose a method to achieve their enantioselective chemical synthesis from the indicated
aldehydes. Be careful about protecting groups and relative/absolute configurations of
stereocenters. Assume the availability of all required reagents, chiral auxiliaries, etc.
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